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PART - A : GENERAL KNOWLEDGE & CURRENT AFFAIRS
The name of the Laccadive, Minicoy and Amindivi islands was changed to Lakshadweep by an Act of

Partiament in (A) 1870 (8) 1971 (C) 1972 . (D) 1973
The members of the Panchayat are (A) nominated by the district officer  (B) elected by the electorates of
the respective territorial constituencies (C) nominated by local self-government minister of the

state (D) nominated by the block development organisation
The power to decide an election petition is vested in the
{A) Parliament (B) Supreme Court (C) High Courts (D) Election Commission
The Rmsont Lok Sabha is the
(A) 8" Lok Sabha (B) 10" Lok Sabha (C) 14" Lok Sabha (D) 15" Lok Sabha
The preamble says that the state in India will assure the dignity of the individual. The constitution
seeks to achieve this object by guaranteeing (A) equal fundamental rights to each citizen
(B) the right to adequate means cf livelihood to each individual (C) just and humane conditions of
work to each individual (D) equal wages for equal work to each individual irrespective of sex
The President can disscive the Lok Sabha on  (A) advice of the prime Minister (B) advice of the Chief
Justice of india (C) recommendation of Lok Sabha (D) recommendation of Rajya Sabha
Preamble enshrines the ideals of liberty, equality and fraternity ~ ideals inspired by the
{A) Russian Revolution  (B) Irish Revolution (C) French Revolution (D) US Constitution
The minimum number of members that must be present to hold the meeting of the Lok Sabha is
(A) one-fourth of the total membership (B) one-tenth of the total membership of the House
(C) 50 per cent strength of the Lok Sabha (D) at least 100 members
The Parliament enjoys legislative power over subjects in  (A) the union list only (B) the concurrent list
only (C) both union and concurrent lists (D) all the three lists, viz. union list, state list and the concurrent list
The phrase "bicameral legislature’ means (A) a single assembly (B) an elected legislature
(C) a legislature consisting of a lower and an upper chamber (D) parliamentary system of government
The power of Supreme Court of India to decide the dispute between the centre and states falls under
its (A) advisory jurisdiction (B) appellate jurisdiction (C) original jurisdiction (D) constitutional jurisdiction
in the last one decade, which one among the following sector has attracted the highest foreign direct
investment inflows into India?
(A) Chemicals other than fertilizers (B) services sector (C) Food processing (D) Telecommunication
Devaluation of a currency means
(A) reduction in the value of a currency vis-a-vis major internationally traded currencies
(B) permitting the currency to seek its worth in the international market
(C) fixing the value of the currency in conjunction with the movement in the value of a basket of
pre-determined currencies
(D) fixing the value of currency in multitateral consultation with the IMF, the World Bank and major trading
pariners
One of the reasons for India’s occupational structure remaining more or less the same over the years
has been that

(A) investment pattern has been directed towards capital intensive industries (B) productivity in
agriculture has been high enough to induce people to stay with agricufture (C) ceiling on land holdings have
enabled more people to own land and hence their preference to stay with agricuiture (D) people are

largely unaware of the significance of transition from agriculture to industry for economic development.
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States earn maximum revenue through

(A) land revenue (B) custom revenue  (C) commercial taxes (D)excise duties on intoxicants
Debenture holders of a company are its

{A) shareholders (B) creditors (C) debtors (D) directors

Excise duty is a tax levied on the

(A) import of goods (B) export of goods (C) production of goods (D) sale of goads

Which of the following is the first Indian private company to sign an accord with Government of
Myanmar for oil exploration in two offshore blocks in that country?

(A) Reliance Energy (B) Essar Oil (C) GAIL (D) ONGC

Revenue-of the state governments are raised from the following sources, except

{A) entertainment tax (B) expenditure tax (C) agricultural income tax (D) land revenue

The banks are required to maintain a certain ratio between their cash in the hand and total assets.
This is called (A) Statutory Bank Ratio (SBR) (B) Statutory Liquidity Ratio (SLR)
(C) Central Bank Reserve (CBR) (D) Central Liquid Reserve (CLR)

Redistribution policies geared to reduce economic inequalities include

(A) progressive tax policies {B) land reforms

(C) rural development policies (D) All of these

In India, which one among the following formulates the fiscal policy?

(A) Planning Commission (B) Ministry of Finance

(C) Finance Commission (D) The Reserve Bank of India
Which of the following societies has instituted an award for an outstanding parliamentarian?

(A) Jamanlal Bajaj Foundation (B) Institute of Constitutional and Parliamentary Studies
(C) G.B. Pant Memarial Socisty (D) R.D. Birla Smarak Kosh

The first recipient of Rajiv Gandhi’s *Khel Ratna’ award is

(A) Vishwanathan Anand (B) Leander Peas {(C) Kapil Dev (D) Limba Ram

Arjuna Award is given for - / .

(A) Exceptional service in emergency (B) Bravery on battiefield

(C) Outstanding performance in sporis (D) Exceptional service in slum dwellers

Under an agreement with which of the following countries did Subhas Chandra Bose organize the
indian soldiers, taken as prisoners by the Axis Powers, into the Azad Hind Fauj?

(A) China (B) Garmany (C) Italy (D) Japan
Todarmal was associated with
{A) music (B) literature (C) land revenue reforms (D) law

The title given by the British Government to Mahatma Gandhi which he surrendered during the
non-cooperation movement was

(A) Hind Kesari  (B) Kaiser-e-Hind (C) Rai Bahadur (D) Rt. Honorable
Tipu sultan was the ruler of
(A) Hyderabad  (B) Madurai (C) Mysore (D) Vijayanagar
Under whose leadership was the all India Muslim League set up? .
(A) Mohammed Ali Jinnah (B) Sayyid Ahmed Khan (C) Aga Khan (D) None of the above
Who wrote the famous book - “We the people’?
(A) T.N. Kaul (B) J.R.D. Tata (C) Khushwant Singh (D) Nani Palkhivala
Which of the following is NOT written by Munshi Premchand?
(A) Gaban (B) Godan (C) Guide (D) Manasarovar
The lead character in the film “The Bandit Queen’ has been played by
(A) Rupa Ganguly (B) Seema Biswas {C) Pratiba Sinha {D) Shabana Azmi
Which of the following books has been written by Vikram Seth?
(A) My God Died Young {B) Islamic Bomb {C) Look Back in Anger (D) A Suitable Boy
Who is the writer of Swamy and Friends'?
(A} Munshi Premchand {B) Raman (C) Max Muller (D) R.K Narayan
The author of controversial book "Lajja’ is a citizen of
(A) Pakistan (B) Indonesia (C) Bangladesh (D) India
. The book "Satanic Verses’ was written by
(A) Gunnar Myrdal (B) William Golding (C) Salman Rushdie (D) Agatha Christie
The original name of "Mahabharata’ is
(A) Katha Saritsagar (B) Jai Samhita (C) Brihat Katha (D) Rajatarangini
The refineries Mathura, Digboi and Panipat are set up by
(A) Indian Qil Corporation Ltd. {B) Hindustan Petroluem Corporation Ltd. \

(C) Bharat Petroleum Corporation Ltd. (D) Crude Distillation unit of Madras Refineries Ltd.
The state having a largest area of forest cover in India is

(A) Arunachal Pradesh (B) Haryana (C) Madhya Pradesh (D) Assam

The only state in India that produces saffron is

(A) Assam (B) Himachal Pradesh (C) Jammu & Kashmir (D) Meghalaya
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The oldest mountains in India are

(A) Aravalis (B) Vindhyas (C) Satpuras (D) Nilgiri hills

Which of the following types of soil are mostly confined to river basins and coastal plains of India
(A) Alluvial soils (B) Black soils (C) Laterite soils (D) Red soils

Which country has the largest coast line?

(A) USA (B) Austraila (C) Canada (D) India
Who was known as Iron man of India?

(A)Govind Ballabh Pant (B) Jawaharial Nehru (C) Subhas Chandra Bose (D) Sardar ValiabrEi Patel
Professor Amartya Sen is famous in which of the fields?

(A) Biochemistry (B) Electronics (C) Economics (D) Geology
Who declared that his ultimate aim was to wipe “every tear from every eye'?
(A) Rajendra Prasad (B) Sardar Patel (C) Jawaharlal Nehru (D) Mahatma Gandhi

Which among the famous danseuses is not an exponent of the Odissi dance style?
(A) Sanjukta Panigrahi  (B) Madhavi Mudgal  (C) Sonal Man Singh (D) Yamini Krishnamurthy
Fire temple is the place of worship of which of the following religions?

(A) Taoism (B) Judaism (C) Zoroastrianism (Parsi Religion) (D) Shintoism
Who was the first Indian Chief of Army Staff of the Indian Army?

(A) Gen. K.M. Cariappa (B) Vice-Admiral R.D. Katari

(C) Gen. Maharaja Rajendra Singhji (D) None of these

. Rabindranath Tagore’s "Jana Gana Mana' has been adopted as India’s National Antehm. How many

stanzas of the said song were adopted?

(A) Only the first stanza (B) The whole song

(C) Third and Fourth stanza (D) Fifst and Second stanza Y
‘Teacher’s Day’ is observed on which date? '

(A) September §  (B) January 30 (C) November 14 {D) October 2
How much time are professional Golf Tour players allotted per shot?

(A) 45 seconds  (B) 25 seconds (C) 1 minute (D) 2 minutes
Which player has scored the most runs in a single Test innings?

(A)Graham Gooch (B) Matthew Hayden (C) Brian Lara (D) Agarkar
Which city is called the city of lakes in India?

(A) Cochin (B) Udaipur (C) Bangalore (D) Kolkata
What is the number of squares on a chess board

(A) 72 (B) 64 (C) 81 (D) 48
Which of the gas is not known as green house gas?

(A) Methane (B) Nitrous oxide (C) Carbon dioxide (D) Hydrogen
The hardest substance available on earth is

(A) Gold (B) Iron (C) Diamond (D) Platinum
The element common to all acids is

(A) Hydrogen (B) Carbon (C) Sulphur (D) oxygen

Who is the Minister of Environment and Forests of India?
(A) Jairam Ramesh(B) Anand Sharma (C) Dayanidhi Maran (D) Jayanti natarajan
The battle of Kalinga proved to be the deciding point in the life of

(A) Kautilya (B) Ashoka (C) Samudragupta (D) Alexander

A Kabaddi team usually has

(A) six players  (B) nine players (C) eleven players (D) seven players
Open Market Operation is a part of

{A) Income Policy (B) Fiscal Policy (C) Credit Policy (D) Labour Policy
The Himalayan mountain system belongs to which of the following?

(A) Volcanic mountains (B) Residual mountains

(C) Block mountains (D) Fold mountains

The official mascot for the 2011 Cricket World Cup was

(A) Shera (B) Zakumi (C) stumpy (D) Panda
Baseball is the national game of which country?

(A) USA (B) Australia (C) Canada (D) Brazil

Which of the following is not an Indian Company?

(A) EssarGroup (B)L&T (C) Suzlon Energy (D) Arcelor Mittal
From which year did the 11” Five Year Plan start?

(A) 2006 (B) 2007 (C) 2008 (D) 2009

Kyat is the currency of which country?

(A) Japan (B) South Korea (C) North Korea (D) Myanmar

The Head of Government of Pakistan is known as
(A) Sadr-e-Riyasat (B) Mughal-e-Azam (C) Quaid-e-Azam (D) Wazir-e-Azam
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PART - B : GENERAL ENGLISH

|. Choose the word opposite in meaning to the given word..

71. Sophisticated (A) rustic {B) rural (C) civil (D) domestic

72. Transparent (A) translucent  (B) vague (C) blind (D) opaque

73. Odious (A) familiar (B) pleasant (C) insignificant (D) cacophony
74. Wavering (A) straight (B) tight (C) strong (D) poor

75. Deserter (A) sympathizer (B) favourite (C) fatterer (D) loyalist

76. Flamboyant (A) excited (B) quiet (C) angry (D) multi-coloured
77. Frugal (A) charitable (B)extravagant (C)generous (D) gaudy

78. Antithesis (A) simitarity (B) quiet (C) different (D) regular

79. Wholesome (A) robust (B) rough (C) weak (D) hard

80. Morose (A) harmiess  (B) decent (C) cheerful (D) unusual

Il.  Outof the options given, choose the one nearest in meaning to the given word.

81. Proscribe (A) allow (B) prescribe (C) banish (D) advance

82, Doleful (A) mournful  (B) bright {C) jovial (D) colourful

83. Upheaval (A) outcome  (B) slow change (C) upward turn (D) radical change
84. Culinary (A) creative (B) to do with cookery (C) delicious (D) fragrant

85. Incision {(A) event (B) indecisiveness (C) dispute (D) cut

886. Propriety (A) right (B) neamnesg (C) decorum (D) estate

87. Expertise (A) experience (B) skill (C) smartness (D) art of expressing
88. Obliterate (A) to biot out  (B) slow down (C) block up (D) decline

89. Hypothetical (A) methodical (B) based on supposition (C) double faced (D) to do with superstition
80. Skip (A) overlook  (B) introduce (C) insert (D) notica

iil. Out of the four alternatives given below, choose the one which can be substituted for the given words.

91. Opposed to great or sudden change (A) static  (B) revolutionary (C) conservative (D) evolutionary
92. A person who is pure and clean (A) immaculate (B)yneat (C)clean (D) irevocable
93. Words inscribed on a tomb (A) lyric (B) epitaph (C) honour (D) memento
94. A place where everything is perfect (A) heaven (B) platoon (C) cosmos (D) utopia

95. A writer who steals ideas from others  (A) plagiarist (B) copier (C) editor (D) translator

IV. Each question consists of an idiom followed by four explanations. Choose the answer which is most suitable.
96. A pipe dream (A) a day dream (B) a hope or plan that will never come true (C) an unending dream (D) a nightmare

97. Bandy words with (A) argue (B) oratory (C) speech entnusiast (D) linguistic acumen

98. To strain every nerve (A) to spoil relationship (B) get away (C) to try one's utmost (D) to take ill
99. A wild goose chase (A) a wise decision (B) useless search (C) timely action (D) delayed action
100. Crocodile tears (A) pretended sadness (B)a weeping sign {C) mild regret (D) very gloomy

101. The green eyed monster (A) the creature of the sea (B) an animal with green eyes (C) personal jealously
(D) to get into trouble

102. To end in smoke  (A) to die of cancer caused by smoking  (B) to end without providing any practical result

(C) to dig in 2 burning house choked with smoke (D) to risk everything in a single venture

103, Face the music  (A) get finished (B) get reprimanded (C) feel sorry (D) listen to the music
104. A snake in the grass (A) an unreliable person (B) a hidden enemy (C) low and mean (D) cowardly and brutal
105. To pick holes (A) to find some reason to fight  (B) to cut some part of an item

(C) to destroy something (D) to criticize someone
V. Fill in the blanks with suitable prepositions.
106. Ramesh’s mind was attuned ____ music. {A) at (B) to (C) with (D) on
107. | have a distaste publicity. (A) for (B)to (C) of (D) against
108. Pawan’s story is devoid truth, (A) from {B)to (C) of (D) through
109. Shyam has no control his temper. (A) over (B) in (C)at (D) after
110. the whole, | like the book very much. (A) at (B) from (C)on (D) in
111. A steady mind triumphs difficulties (A)in (B) over (C) at (D) with
112. | brought him with great difficulty. (A) about (B)in (C) round (D) up
113. Keep clear wicked boys. (A) of (B)from (C) out (D) with
114. It is dangerous to go the enemy's camp. (A)in (B) into (C) through (D) by
115. She was a devoted wife and looked her husband. (A) after (B) for (C) upon (D) at
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VL. Fill in the blanks with the most appropriate form of the verb from the options.
116. Unless he ____ smoking his health will not improve.
{(A) does not give up (B)ygaveup (C)givesup (D) has given up
117. if he hard, he will succeed.
(A) will work (B) works (C)worked (D) has worked
118.1 ___ all that is possible, the rest is up to you. .
{A) do (B) have not done (C) have done (D) does
119. 1 am not weil today, | fever.
{A}have (B) am having (C)willhave (D) none of these
120, It ____ since morning.
(A) rains (B)is raining (C) rained (D) has been raining
VIL Choose the word or phrase which completes each sentence best.
121. The mounting pressure was so overwhelming that he uitimately ____to her wish.
{A) agreed in (B) cowed in (C) gave in (D) yieided in
122. She in the crowd because of her height.
{A) stood by (B) stoed off (C)stood up (D) stood out

423. He tames animais because he
(A) is fond of them (B) hates them (C) is afraig’of them (D) wants fo set them free.
124. The doctor warned him that unless he gave up smoking, he
(A) would not suffer (B) would not recover (C) would be fine (D) waould soon recover
125. The stenographer is very efficient. He is to his firm.
(A) a credit (B) a blessing (C)anasset (D) aboon
126. An eighteen years old is ___ to vote in the election as per the Constitution of india
(A} old enough  (B) as old enough (C) enough old (D) enough cld as
127. Not until a monkey is several years old ___to exhibit signs of independence from its mother.

{A) it begins (B) does it begin (C) and begin (D) beginning
128. The United States is ____ that there are five time zones.
(A) much big (B) too big (C) so big (D) very big
129. It costs a lot of money fo have atooth ____ .
(A)filling (B) filled (C) to fill (D) fill
130. The sales of Jules Verne's book continue to ____ like a runaway balloon.
(A)fit (B) advance (C) revive (D) soar
Vill. Each question has four parts, one of which has an error, find out the part which contains the error.
131. (A) This was one of the reason (B) why the industry flourished
(C) in such rich countries (D) as Japan and Korea
132. (A) He is one of the employees (B) who was given a bonus
(C) and the only one of the employses (D) who was promoted
133. (A) We did (B) the job as good as
(C) we could; however it did not (D) turn out to be satisfactory
134. (A) A wise 4 (B) and experienced manager will assign
(C) a job to whomever (D) is best qualified.
135. (A) The reason her and her friend (B) decided to iake the bus
(C) instead of the train was that there was (D) an announcement about the cancellation of several trains.
136. (A) Between you and | (B) | am convinced that
(C) this painting by Neetu shows (D) greater artistry than that of Reshma.
137. (A) Since we live in a money-ariented society (B) the average individual
(C) cares little about (D) solving anyone's else problem
138. (A) A gang of armed thieves {B) has raided
(C) the house of Mr. Gupta (D) late last night
139. (A) The present day (B) industrial trend is
(C) in the direction of (D) automation and less people.
140. (A) The standard of living in India (B) is still lower

(C) than most of the (D) other developed countries.
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PART (€D - Mental Ability

L. 3 words are given The first two in each group are related in some way Choose 4th word which
is related to the 3rd word as one and two are related

)4 1. Shap - Water = train :

A Path B Road C Passenger D Track
) 4 2. Doctor: Patient = teacher

A Class B. Student C. School D. Lesson e 2
1% 3. Paper: Pen =blackboard:

A. Chalk B. Wood C. Class D. Cardboard
JL. Complete the series

1Y 4. 15,377, 6/11, 1019,

A 1535 B.1635 C 1735 D 20735

| 5. A husband and wife have five mamed sons. Each of these had four children. How many
members are there in the family”?

A 50 B.40 C. 32 D.36

1% 6. In the word POLICY all the consonants are replaced by the previous letter and all the vowels
are replaced by the next letter which letter will be second from the left end?

AS BM C N D. Noneofthese
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14 7. Which letter will be fourth from the left end?
A.C B.Q C.J. D Noneoftheto

14 8. Four of the following five are alike in a certain way and so form a group. Which is the one that
does not belong to the group?

AFH BKM CPR DM

1% 9. If the digits of the number 5726489 are arranged in ascending order, how many digits will
remain at the same position”

A One B.Two CThree D. More than three

) §0. How many meaningful words can be made from the letters AEHT, using eachi letter only
once?

A None B.One C Two D.Three

Jﬁ. Eight executives J, K, L, M, N, O, P, and Q are sitting around a circular table for a meeting. J is
second to the night of P who is third to the right of K. M 1s second to the left of O who sits
between P and J, L is not a neighbour of K or N.

) 1. Who is to the immediate left of L?
(@ Q
€0
@K

(l) None of these
) 2. Who is to the immediate left of K?
(@) N
&)
90Q

(d) Cannot be determined



| 3. Which of the following is the correct position of N?
(24 Second to the nght of K
(£) To the immediate left of K
(%) To the immediate right of M

(& To the immediate right of K

} [4 Who is third to the right of P?
(~)L
(¢)7
€)Q
(AN

l_l)'S. Which of the following groups of persons have the first person sitting between the other two?
(«) PJO
(&) OPJ
() OPM

(4) MPO

|[6. The positions of how many alphbets will remain unchanged if each of the alphabets in the
word WORTHY is arranged in the alphabetical order from left to right.

A. none
B. One

C.Two
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D.Three
|L7. “Writing” is to ‘pen’ in the same way as:
A. singing 18 to music

B. Stitching is to needle

C. Dancing is to exercise

D. Carpenter is to tools

A,B,C,D,E, F, G and H are sitting around a circular table facing the centre. Each one is born
in a different year , that is, 1971, 1975, 1979, 1980, 1981, 1984, 1985 and 1990.

Dis sittin second to the right of B. C is sitting third to the right of A. A and C were born before
1980. The only one born in 1984 is sitting exactly between A and B. E who is the eldest is not an
immediate neighbour of A and D H is older than onlv D H is sitting second to the left of G. G
1s not the immediate neighbour of E. A is younger than C. B was born before F.

) [8 Who is the second eldest in the group?
aA
b.C
cB
d.G
| [8. Who is sitting third to the right of F
aA
b.C
c.B
d. none of these
)60. In which year was H bom?
a. 1975
b.1979
c.1980
d.1985
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}81. which of the following statements is true for B:

a. B is sitting fourth to the nght of H

b. The one bom in 1975 is the immediate left of B

¢. B 1s younger than H

d. None 1s true

162 Four of the following five are alike in a certain way based on the seating arrangement upon
the information given above, thereby forming a group. Which one does not belong to the group?

a FH
b.DB
c. AC
d. GH

1 B3. Four of the following five are alike in a certain way based on the seating arrangement upon
the information given above, thereby forming a group. Which one does not belong to the group?

a DGAC
b. FBGD
¢.ECBF
d BEGF
Find the correct altemative
| &4 Window is the glass pane as book is to
a novel
b.page
c. cover
d.print
16s. Cup is to coffee as bowl is to
a soup

b.plate
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c.spoon
d.dish
)86. Reptile is to lizard as flower is to
astem
b.petal
c.rose
d. snake
) @7. Sponge is to porous as rubber is to
a elastic
b.solid
C. massive
d. inflexible
) B8. Careful is to cautious as boastful is to
aarrogant
b. joyful
¢.humble
d suspicious
|@9. Pride is to lion as shoal is to
a teacher
b.student
c.fish
d. chair
] 30. Exercise is to gym as eating is to
a food

b.dieting



c. fitness

d. resturant

1731, Oar 1s to boat as foot is to

anunnmg

b. skateboard

c.shoes

d jumping

172 An Informal Gathering occurs when a group of people get together in a casual, relaxed
manner. Which situation below 1s the best exaniple of an Informal Gathering?

a

The book club meets on the first Thursday evening of every month.

After finding out about his promotion, Ashok and a few coworkers decide to go out for
a meal after work.

Ishita sends out 25 invitations for the marmiage she is giving for her sister.

Whenever she eats at a restaurant, Ashok seems 1o always meet Ankitz

1 7}3. A Guarantee is a promise or assurance that attests to the quality of a product that is either
(1) given in writing by the manufacturer or (2) given verbally by the person selling the product
Which situation below is the best example of a Guarantee?

a.

d

Ajay purchases a DVD player with the highest consumer ratings in 1is category.

The salesperson advises Shabnam to be sure that she buys an air conditioner with a
guarantee.

The local auto body shop specializes in refurbishing and selling used cars.

Vandana buys a used digital camera from her coworker who says that she will refund
Vandana's money if the camera's performance is not of the highest quality.

| 34. A Tiebreaker is an additional contest or period of play designed to establish a winner among
tied contestants. Which situation below is the best example of a Tiebreaker?

a. At halftime, the score is tied at 28.
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b. Mary and Megan have each scored three goals in the game.
¢. The referee tosses a coin to decide which team will have possession of the ball first

The Sharks and the Bears each finished with 14 points, and they are now battling it out
in a five-minute overtime

Read the follmng and answer the questions:

(i) A, B, C, D, E, F and G are seven members standing in a row (not necessarily in the same
order) facing north.

(ii)CmchmasMymnthbemﬂt&nasGandChavebemem them
(ii1) D, who is 3rd from the extreme left, is 3rd to the left of E.
(1v) A and D are neighbors and F and C are neighbors

) 35 Which of the following statements may be false?
(8) A is the 3rd to the left of F
(b) D is 3rd to the left of E
(c) Fis 3rd the right of A
(d) B is 31d to the left of C

1736 Which of the following statements is true?
a C and E are neighbors
b. B is to the immediate left of F
c. A is to the immediate left of D
d. Cis to the immediate left of D

1737 Who 1s at the extreme nght?
a) Data inadequate
b)G
(c)B
(dE

1778. Which of the following given two pairs of neighbors?
(a) A,Cand D,C
(b)A, BandE, G
(c)D, C and E, F
(d)C,FandC,E

) 39, What is the position of F?
(a) Immediate to the right of E.
(b) Third to the left of G



(c) Immediate to the lefi of C
(d) None of these

1 80. Four of the following five groups of letters are alike in some way while one is different. Find
out which one is different.

(8) ISLOJ
(b) LUOQOM
ic) AKDGB
(d) FPILG

Read the folowing and answer the questions:

In a code language any letter which is immediately after or before a vowel in the English
alphabet 18 substituted by that vowel and any vovgal ie A E I Oand U is substituted by the
letter immadi&dyﬁﬂlow&ngdmtvowdhﬁeﬁpdish alphabet.

191 How can the word FEVERISH be written in that code language?
(a) EDVDRISI
(b) EFUFRHSI
{c) EFUFRJSI
(d) EDUFRISI

182 How can the word CONFEDERATION be written in that code language?
(a) CPOGFEDRBUTPO
(b) CPOEFEFRBUJPO
(c) CNOEFEFRBUHNO
(4) CONFFDERATION

| . Four of the following five have similar relationship and hence form a group. Which one does
not belong to the group?
(a) BROTHER : DORVEHT
{b) ENGLISH : GGNNSU
(c) ANOTHER : CONVEHT
(d) BETWEEN : DTEZEEP

) §4. In an office having 55 employees men out number the women by 15. How many wormen are
working in that office.

(a) 30
(b) 20
(c)40
(d) 50

185 Reena traveled from point A to a distance of 10 feet east at point B. She then turned right and
watlked 3 feet. Again she furned nght and walked 14 feet. How far is she from the startmg point.



‘ "

(a) 4 feet
(b) 5 feet
(c) 24 feet
(d) 25 feet

In the following question .Msmmmhnumhaedlandﬂmgimm
may bemmeandeﬁectmhﬁmshipbamthemm.ThﬁeMsm
mymmeeﬁeddtmmcmmMW.mmMm
independent causes without having any relationship. Read both the statements in
question and mark your answer as

lA){fstatenmnllssthewnemdsm\entHisimeﬁect;

(B)lfmanmnisﬂ:emmdmtlisﬂseﬁbct

! 4
(C) If both :hestamm:slandllam‘mdepmdmtmm;umd

(D) if both the statements 1 and 11 are effects of independent causes,

| 86. Statements:

I The prices of petrol arddmdinﬁedomesﬁcnnﬁahavemined
unchanged for the past few months.

.  The crude oil prices in the international market have gone up substantially n
the last few months.

a.  Statement I is the cause and statement I 1s its effect
b Statement 11 is the cause and staterment 1 15 1is effect
o, Both the staterents [ and Il are independent causes

d  Both the statements T and [ are effects of independent causes

187 If the & mwntdecidesmﬁmdiheagrimlmmsubsidymmﬁmﬂmdio,mdthe

small business loan program, what two other programs could they fund?

a harbor improvements and international airport



b.  harbor improvements and school music program
¢ hurmicane preparedness and school music program

d  hurricane preparedness and international airport

1#8. Find the statement that must be true according to the given mformation.
Vinu has a paper route. Each moming, he delivers 37 newspapers to customers in
his neighborhood. It takes Vinu 50 minutes to deliver all the papers. 1If Vinu 1s sick
or has other plans, his friend Ashok, who lives on the same street, will sometimes
deliver the papers for him.

&  Vinuand Ashok live in the same neighborhood.
b. It takes Ashok more than 50 minutes to deliver the papers.
¢ Itis dark outside when Vinu begins his deliveries.

d  Ashok would lile to have his own paper route

| 89. Chander is twelve years old. For three years, he has been asking his parents fora
dog. His parents have told him that they believe a dog would not be happy in an
apartment, but they have given him permission to have a bird. Chander has not yet
decided what kind of bird he would like to have.

a  Chander's parents like birds better than they like dogs.
b.  Chander does not like birds.
¢. Chander and his parents live in an apartment.

d  Chander and his parents would like to move from the apartment

130. On weekends, Mr. Singh spends many hours working in his vegetable and flower
gardens. Mrs. Singh spends her free time reading and listening to classical music. Both
Mr. Singh and Mrs. Singh like to cook.

a.  Mr Singh enjoys planting and growing vegetabies.
b.  Mr. Singh does not like classical music.

¢ Mrs Singh cooks the vegetables that Mr. Sanchez grows.
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d  Mrs Singh enjoys reading ninetesnth century novels

in these senes, you will be looking at both the letler pattem and the numbes paltem, Fil in the

R

onmect answewr in e biank
1M43- SCD, TEF, UGH, ___, WKL
a CMm L
€. VD d LT

1§2. FAG, GAF, HAL 1AH,

a JAK b.  HAL

¢ HAK d  JAl

a mch b ounce

¢ centimeter d vard
184 Which word does NOT belong with the others?

a ture b steering wheel

c  engine . d car
195 Which word does NOT belong with the others”

& wlp b rose

¢ bud d dasy
1§6. Which word does NOT belong with the others?

2 book b index

chapier

o glovsay .
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